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SECTION-A

i) General Awareness adda E‘IT
1. A city, Gangaikonda Cholapuram was 7. Match the following with their production
built by s |
, a. Chakan 1. pharmaceutical
(A) Rajarajachola 1 industrial hub  industries
(B) Rajendrachola 1 b. Surat 2. textile industries
(C) Rajarajachola 2 c. Tirupur 3. dlaénonld I'c];umng
: and polishing
(D) Rajendrachola 2 d. Baddi 4. automobile
2. The first medal for India in Ehe recently Select the right COde-mdustnes
held Commonwealth Games 2018was | . _ - a b ¢.vd
bagged by (A) 1 2 3-- 4
(A) Babita Phogat B) 2 3 4
(B) P. Gururaj (C) 4 3 2 1
(C) Mary Kom bys 4 1 2
(D) Mirabaichanu 8. Recently YONO interface banking app

was released by
(A) Baroda bank (B) YES bank
(C) SBI bank (D) PNB bank

3. InIndia the term of office for the member
of upper house of Parliament is

(A) 4 year (B) S5year 9. Inthe context of citizenship uncertainty
(C) 6year - (D) 2 year in the state of Assam, Citizenship
- implies that
4. Whoidentifies the ‘ Biosphere Reserves' (A) It is a full and equal membership
in the world ? . of a society g
B) Itis afull and equal membership o
(A) UNEE (B) UNESCO ( a palitical community
(C) UNFCCC (D) UNDP (C) Itis a full and equal membership of

a democratic states

5. Dry cell batteries contains (D) It is a full and equal membership
(A) NICkel of repUb”C states
(B) Cadmium 10. Code name for the Pokhran Nuclear
C) Both are wron Bomb Test conducted in 1998 is
(C) g (A) Operation Shakthi
(D) (A)and (B) (B) Operation Vijay
Smiling Buddh
6. The theme of the 12" five year plan was Eg; O';(L:':?i o nuC acij «
(A) Digital economy '
11.  Which of the following Article embodies

(B) Inclusive development

(C) End poverty ,

(D) Powering India; empower the
women

protection of monuments, historical
places etc. of the Constitution of India ?

(A) 39 (B) 40
(€) 30 (D) 49
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12.

13.

14,

15.

16.

Leela Menon who recently passed away
was associated with

(A) Katak dancer

(B) Violinist

(C) Hindustani vocalist
(D) Journalist

Highest law officer of the count'ry in India is
(A) Chief Justice of Supreme Court
(B) Union Law Minister
(C) President

(D) Attorney General

Consider the following accordmg to their
makers.

1. Fatehpursikri - Akbar :
2. RedfortDelhi — Shahjahan
3. Humayun tomb — Jahangir
Select the right option.

(A) Only 1 (B) Only 2
(C) Only3 (D) tand2

India’s nuclear power Fast Breeder Test
Reactor (FBTR) is situated in

(A) Kudankulam (B) Tarapur
(C) Kalpakam (D) Kaiga

During Mughal's period people who
joined the service were enrolled as
Mansabdars, here Mansab refers to a

(A) Treasurer
(B) Ranking system
(C) Salary or revenue
(D) Zamindar

0 0 0 O OO0 00 00 A 00

2 (76}

18.

19.

20.

Human Development Index (HDI) is
issued by

(A) World Economic Forum
(B) WHO
(C) FAO
(D) UNDP

Which of the following is/are not a
non-conventional source/s of energy ?

(A) Geothermal energy
(B) Liquefied natural gas
(C) Hydel power
(D) Both (B) and (C)

Read the following regarding sustainable
development of agriculture and select
the right option.

(A) Usinganeem coated urea instead
. G normal urea in the agri-activities is
one of the#sustainable measures

Need based Hybridising the crops
such as developing xerophyte and

halophytic varieties in drought and
salty water areas respectively

(C) Both are wrong
(D) Both are right

Which of the following food grain has

highest protein and lowest Glycaemlc
Index (Gl) init ?

(A) millets
(C) pulses

(B) paddy crop
(D) wheat
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17. w4 fowm@ gaeic (HDI) EQY

ST form ST R |
(A) fava anfids wrm
(B) WHO

(C) FAO

\JB{ UNDP

18. ﬁt{%ﬁaaﬁﬁﬁ?—maﬁﬁww

L=s

20.

.(C) T=

R-Wa Ed =& 2 7

"A)'TTEﬁ'ﬂﬁﬁ

(B) Wwﬁzﬁﬁa
(C) vl St
(D) (B) ¥k (C) T
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%! gfgu 3 ot fasew gihw)

(A BT T <t s i v geT e
WATERET SR 39 W O 8

B) ®U! o TGVl HTHTHG GhLul
S mRgfiret 3R Javngfiel i forad
T 3R AUl STt & &1 8 Snfda

(C) 2T Te &

(D) =i wE F

Frafifaa 1 8 -8 @/ s A 3=9an
W IR P e gesis & 7
(A) TREIES  (B) 9

(D) g
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21,

22,

23.

24.
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if) General Intelligence and Reasoning Ability

The total of 324 of 20 paise and 25 paise
make a sum of ¥ 71. The number of
20 paise coins is
(A) 50

(C) 150

(B) 100
(D) 200

| — The vegetable prices in the local
market have mcreased during the
past few days.

Il = Incessant rains have created flood

like situation in most rural parts of
the state.

(A) Statement | is the cause and
statement Il is the effect

(B) Statement Il is the cause and
statement | is the effect . ::

(C) Both | and Il are independent
causes

(D) Both | and Il are effects of some
.common cause

I. Janya is older than Eric
Il. Cliff is older than Janya
Ill. Eric is older than Cliff

If the first two statements are true, the
third statement is

(A) True
(C) Uncertain

(B) False
(D) None

Should high chimneys be installed in
industries ?

Arguments'

1. Yes, it reduces pollution at ground
level.

2. No, itincrements pollution in upper
atmosphere.

Only 1 is true

Only 2 is true

Either 1 or 2 is true
Neither 1 nor 2 is true

(A)
(B)
(C)
(D)

25.

26.

22

28.

29.

30.

Statement : The manager humiliated
Bob in the presence of his colleagues,
Conclusions :

I. The manager did not like Bob.

Il. Bob was not popular with his
colleagues.

Only conclusion | follows
Only conclusion Il follows
Either | or Il follows
Neither | nor |l follows

(A)
(B)
(€)
(D)

Complete the series :
SCD, TEF, UGH, ?, WKL
(A) CMN (B) UJI
(Cy VI (D) T

Choose the word that is necessary part

of the word “harvest’.
(A) autumn (B) stockpile
(C) tractor

(D) crop

If ‘gorblflur<means fan belt, ‘pixngorbl’
means ceiling fan and ‘arthtusl’ means
tile roof. Which word could mean ‘ceiling
tile’ ?

(A) gorbitusl
(C) arthflur

(B) flurgorbl
(D) pixnarth

Complete the analogy

KORT : PJWO : : FINR : ?
(A) GJOS (B) CJNR
(C) JSMR (D) KDSM

Find the missing letters WhICh will
complete the series.

___bbedee _ _ aabbaa_ _
aabbcc (B) abcabc
cabcab (D) cbcbea

(A)
(C)
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21.

22.

23.

24,
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i) wmr=a gigrn aun arfhes draa

209 3fk 25 %8 % 324 F w1 &5, 71 R
U%aqﬁ%lzoﬁﬁ%ﬁaa%?ﬁm%

(A) 5 (B) 100
(C) 150 By 200

| — T ST A e g fet 3 wfeswt
FAMARE |

1| — Tt It & T S Ty T
&1 1 w1 S R Sem A R |

(A) e | ST § 31T e || wTE B

(B) U I R B 3R FU4 | I974 2

(C) B | 3R || T o 3

(D) QM| 3 Il T IS TR F I &

| SR TRE A 7 e |
Il s S=n e s s |
I, T s a asT e |

Ife yedt < HYF I ® ) A HAA
(A) T - (B) @
() srfifrm (D) 1S T

1 A A et et @ st =R
eh (
1. &, 9% TR -9 S H A 8 |
2. T8, 78 I IgHeSH H NG e § |
(A) Hael 198

(B) ¥ 2TA &

(C) A1 A2HAR

D) Ad1928A

25. HUA : YEYF A ATG H) GGHHA] B
Ifedfa o armfaa femm)
frewd
|. UsitTeh ®id ol YHe A& T |
II. =T 379 Fehflal § SAreniia 7 21
(A) here ey | TgaTur T 3
. (B) ohaw frend 11 TgET T @
(C) T | AT 1 STFERVT HT 8
(D) A7 17 E 1| STTE e

06. F@aT SCD, TEF, UGH, ?, WKL &I q1f
HIfT |

(A) CMN (B) UJI
(C) VIJ (D) WT
07. ¥Is¢ AT A IR “harvest” S IaTTH
AR |
' (A) autumn (B) stockpile

(C) tractor (D) crop

28. &fe ‘gorblflur 379 2 fan belt, ‘pixngorbl’
=i <79 2 ceiling fan 371 ‘arthtusl’ 1 374

il oof‘%?ﬁﬁa‘ﬁﬂﬁ’%‘r 379 ‘ceiling tile’
T ?

(A) gorbltusl (B) flurgorbl

(C) arthflur (D) pixnarth
29"\ THEYAT qUI hISTT :

KORT : PJWO :: FINR : ?

(A) GJOS (B) CJNR

(C) JSMR (D) KDSM
30. @ U HH I I &R JId Hi

_ _bbeccee _ _ aabbaa _ _

(A) aabbcc (B) abcabc

(C) cabcab (D) cbcbea
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31.

32.

33.

34.

35.

36.

Number of triangles in the given figure is

Y

(A) 18
(C) 24

(B) 20
(D) 27

A_ dice is numbered from 1 to 6 in
different ways. If 1 is adjacent to 2, 4

and 6 then which of the following is
necessarily true ?

(A) 2is opposite to 6
(B) 1is adjacentto 3
(C) 3isadjacentto 5
(D) 3is opposite to 5

Complete the figure matrix :

O &

ST
E (B).E o
E' (D)E"

The last day of a century cannﬁt be
(A) Friday (B) Tuesday
(C) Monday (D) Wednesday

(A)
(©)

A clock is set right at 5 a.m. The clock
loses 16 minutes in 24 hours. What
will be the true time when the clock
indicates 10 p.m. on 4! day ?

(A) 11 p.m. (B) 12p.m.

(C) 1p.m. (D) 2p.m.

Insert the missing number in the
sequence 7, 26, 63, 124, 215, 342, ?
(A) 391 (B) 421
(C) 481 (D) 511

D00 0 00O O 0

37.

38.

(C) Mikk

39.

40.

Pick the odd word.
(A) Acute (B) Right
(C) Obtuse (D) Parallel

Yard is to inch as quart is to
(A) Gallon (B) Ounce
(D) Liquid

Sara lives in a‘large city on the East
Coast. Her youniger cousin Marlee
lives in the Mid-west in a small town
with fewer than 1000 residents. Marlee
has visited Sara several times during
the past five years. In the same period
of time, Sara has visited Marlee only
once. |

(A) Marlee likes Sara better than Sara
like"Marlee

Sara thinks small towns are
boring

(B)
(C) Sara is older than Marlee
(D)

Marlee wants to move to the East
Coast

Statement : Detergents are used to
clean clothes.

Assumptions :
|. Detergents form more lather.
Il. Detergents help to remove dirt and

grease.
(A) Only assumption | is implicit
(B) Only assumption Il is implicit

(©)
(D)

Either | or Il is implicit
Both | and 11 is implicit
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31. feum o & Bt i g

32.

3.

v

4% B2

T I T 1 A 6 W T ade & R ms

R13R 1,2, 4, 6 FoRmet o fffem | . -

W HH-T AEEF T TR ?

(A) 2,6% g

(B) 1,3%ufymz
(C) 3, 5% afie

,(D) 3,5% fauda 2

TR 01 |
O D K

@ 27 [z7

r%g ’

e HE

(A) L2/

(B) E
(D) E

@ @mﬂﬁﬁuﬁﬁéﬂ—wqﬁm%? |
(A) '

35.

¢
&y

1y

36.

[ha (B) HITER

(C) IHar (D) FTER

e 9 1 e 5 o U8 IHT W@ TR |
TS 24 53 1 16 e 410 & S ® | 9
TEl Y oA TR 10 =t 1 wey fewn
T R, 79 IR aug 1 R ?

(A) STHIEH 1139t (B) THIEA 12 7
(C) WA 19 (D) IITRA 2 5

"% 7, 26, 63, 124, 215, 342, 7§ [

&1 1T |
(A) 391
(C) 481

(B) 421
(D) 511

==

37.

38.

30.

40.
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g firg g gy

(A) =3 (B) @m

(C) ftrp (D) "W

I 1 59 ¥ 9 gay } S 59 &
| a2

(A) T

(C) g4

(B) 3
D) =@

BT g q W T W el H el 31 35

BIS 5E WAl 1000 T § F1 art
o SR e e e 21 e
gte u # Hrell ar & e S R 7S )
34 g e & gr wiel & 9 e T
AR TS 2

(A) T T 1 S wEe et & frae

T AT Y g A R

(B) | TRl T & foh B ) 3% B &
(C) T HTeH & 5t |

(D) Tt it e ST el

T : feesic wugt = A F+A F g
TR =T §
QAL
. feesle st s =mma €
II. feesic gt iR i TR N TR A & |
(A) hae JEUR | AR A
(B) A THURON || AL &relt 2
(C) a1 |l T R B
(D) @M | 3R | T Erh &
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41.

42.

- 43.

44.

45.

0 O O O

ili) Arithmetical and Numerical Ability
46. In a group of 90 people, 45 like coffee,

If 12 horses or 16 cows can consume
60 kgs of fodder in 20 days, how much
fodder will be required for 24 horses and
24 cows to last 30 days ?

(A) 420 kgs (B) 315 kgs
(C) 350 kgs (D) 440 kgs

If 5 kg of mangoes is purchased at
Rs. 100 per kg, 6 kgs of apples at
Rs. 110 perkgand 9 kgs of pomegranates

“atRs. 120 per kg then the average price
» of fruits per kg'is (in rupees)
(A) 110

(B) 115

C) 112 - (D) 105

A sum was put at simple interest at a
certain rate for 4 years. Had it been put
at 2% higher rate, it would have feiched
Rs. 56 more. Find the sum.

(A) Rs.700 |

(B) Rs.900 : n
(C) Rs. 1,000

(D) None of these

The difference between simple interest
and compound interest on a certain sum
of money invested for 3 years at 6% p.a.
is 110.16. Find the sum.

(A) Rs. 10,000 (B) Rs. 9,000

(C) Rs.8,000 (D) Rs. 11,000

Ms. A and Mr. B scored 78% and 72%
in an_examination. If the difference in
their marks is 36, then the maximum
marks for which the examination was
conducted is

(A) 1000
(C) 600

(B) 500
(D) 625

-10-

47.

48.

49,

50.

55 like tea and each person among
90 likes atleast one of the two drinks.
Number of people who like both is

(A) 10 (B) 15

(C) 12 (D) 13
AandBcandoa piéce of work together
in 15 days. A alone can do itin 20 days
then the number of days B takes to
complete the same job is

(A) 50 days

(B) 60 days

(C) 40days

(D) None of these

The sum of first n natural numbers is
given by the relation S=%n(n+1). Find
n when the sum is 276.

(AY 20 (B) 25

(C) 23 (D) 19

If the perimeter and the area of a circle

are numerically equal, then the radius
of the circle is

(A) 2 units (B) m units

(C) 4 units (D) 7 units

How many revolutions will a toy wheel
of 28 cms in diameter make in travelling
a distance of 880 cms ?

(A) 100 (B) 88

(C) 10 (D) 24
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ili) TRTTUTH v EEATTHe argel
46. 90T o Wk TYE o, 45 Hith! 76 HLd B,

gfe 12 91et 3tk 16 TR 20 =1 A 60 R
I @t ® @t 24 "1El 3 24 7Y
30 feAt & fore fepaa =m =i ?
(A) 420fpm  (B) 315 Fmm
(C) 350 ferm (D) 440 fem

Ife 5 form 21 %.100 i o, 6 form
O 5. 110 gl fomum ok 9 forom s
5. 120 fd fomm & st @ @R e B At
Hell ot Wig fomm 3ftaq A= (Fa=i o)
FR 7
(A) 110
C) 112

(B) 115
(D) 105
o TR A 4 a9 v e s

e U foan T | Afe 3) 2% i X
W e STaT At 56 %, 371U e § | Ui

Lo 2N

(A) % 700
(B) . 900

" (©) &1000
(D) ¥ & whig &
3@l % forg 6% wived 1 ot @ @ i
h TR TS A <Tehefi, ST 1 AR
110.16 3 | TRT I10 =)
(A) ¥.10,000  (B) %.9,000

- (C) %.8,000 (D) %.:11,000

45.

gl A 3 oft. B T wam I 78% 3R
72% 3T U1 ohid & | Ife 37eh 37eh1 § 37T
36 2 T 3Tfehay 27, ﬁﬁ%@ﬂmt@ﬁ
s oft, 9 8
(A) 1000
(C) 600

(@) 500
(D) 625

-11-

47.

48.

55 T U6E T & 3R 90 H Wl =Afe
S T Uk 9 ST UHE a1 R | 21 9
THE AT AT Y T 2
(A) 10 (B) 15
(C) 12 (D) 13

A 3R B T & I 15 fAl & o wr o
TFa &1 A 3 27keT 20 AT | o Hehar B

1 B! 38 o I A 1 fehad T wim ?

(A) 50T
(B) 60 fe=
(C) 40T

(D) ¥ @ IS T

n STTehe T3 1 I Gael S=tn(n+1)
WWW%IWW276%% n ¥

A

49.

50.

(A) 20 (B) 25

(C) 23 (D) 19

afe w99 Y el 3 Sawa auE 2 4t
e &t B R

(A) 23T (B) =3

(C) 43FTE (D) 7 3&08

=18 28 9} 1 T Raein ufear fraft s
aT gt 880 et 1 &t a9 FHT © 2
(A) 100 (B) 88

(C) 10 (D) 24

Scanned by CamScanner



'MKG-VII/TECHTGTEM/1T/02

51,

52.

53.

54.

95.

(D) None of tHese

Value of ¥8075 -

(A) 2
(B) 24

(C) 24
(D) None of these

Value of x if 24x -1 4x-3 - gx s
(A) 1 (B) 3

(C) -3 © %

The H.C.F. of two numbers is 12 and
their difference is 12. Then the numbers
are

(A) 24,48

(B) 24, 36

(C) 24,72

Fractional form of 0.2313131 . . . is

229
990

231 '
1000 '

2313
10,000

None of these

(A)
(B)

©)
(D)

lfa:b=2:3andx:y=4:5then the
ratio of 5ax + 3by : 10ax + 4by is

(A) 20:39
(B) 17:28
(C) 50:129
(D) None of these

-12-

56.

57.

58.

59.

60.

000 0 MO 0 0 O O

A watch is sold for Rs. 150, at a profit
of 25%. At what price should it be sold
in order to get 50% profit ? (in rupees)
(A) 200

(B) 150

(C) 180

(D) None of these

The least common multiplier of the
numbers 5, 8, 12 will not be a multiple of

(A) 4 (B) 6
C) 7 (D) 8

Mr. Bean gets Rs. 33,000 after getting
an increase of 20% in his salary, his
initial salary was
(A) 27,500
(C) 31,000

(B) 30,000
(D) 30,500

In a mixture of 60 litres, the ratio of milk
and water is 2 : 1. If this ratio is to be
1.2, then the quantity of water to be
further added is
(A) 20 litres
(C) 40 litres

(B) 30 litres
(D) 60 litres

Two persons walking at the rate of

Gékm and 5-21_km an hour start from

the same point in opposite directions.
When will they be 12 km apart ?
(A) 60 minutes

(B) 55 minutes
(C) 50 minutes

(D) None of these
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52.

53.

54.

55.

3/80.?6 T A %

(A) 2
) 2"
© 2"
(D) T A FIE T

gfg 24 -1 4x-3 = _BX%FISI:XEFIIIF[%
(A) 1 (B) 3

(©) -3 © %

QA el FT H.C.F. 12 8 31K 371 3T

123 ) gend &
(A) 24,48

(B) 24,36
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58.

59,

60.
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iv) Hindi Language and Comprehension

&8 v e e
ot @ﬁﬁmmmﬁﬁlmw 67. fFfifag gomal = A famearei & @y
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(A) 3t (B) IR - s
© =2 (D) 31T o s, 1. ol
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- C. g ; a:l:isﬂa
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ﬁgim | e. & 5. O<Eed
O IR B datab Y e
| | V(A)/s 4 2 5 1
63, sl R A R fme e (B) 2. 4 5 B
Sl (B)dﬁ | ©s5 4 3 2 1
LT R Oy 2= 4. -3 1 5
8. T =N 68, Tl o) 7 are & e AR
(A) T | i o
(B) gemr : | a. -3 AT 8] 1. g =TcATh
ey TRIiA o
©) T b. T ShIEAT. - 2. 37TYeh ok ST
65. TieHt yrse 1 aref 2 c. g @ia 3. S H 37
LAY B Fr e d. STt =T 4. GRS
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V) English Language and Comprehension

3t v afk vy
Select the complex sentence from the following : | Use the correct word to fill in the blanks :
rence g
81. (A) LShﬁ:'l] come when | am in better 85. Heis a rather person.
ea
: ive B) lliusive
(B) With a great effort he lifted the (A) Elusiv il
box (C) Eluseve (D) lllegible
C) To g —
ED; He 1\::(: ep un:szment ISiTEN away 86.) lwould oblige you in this matter
ected owing to ill health but there are insuperable difficulties in
82. (A) He neither returned the goods nor doing so.
paid the bill (A) « Feign (B) Fain
(B) He tried hard but he did not (C) \Faint (D) Fane
succeed .
(C) Having finished his exermse he put Select the synonym of the given word :
away his braches
(D) Heis studying hard so that he may | 87. Tyrant
become learned (A) rash (B) autocrat
Select the correct indirect speech for the (C) meek [ sober
following sentence : .
88. Incite
83. He saidto him, "Is not your name Ahmed 7" (A)..provoke - (B) laugh
(A) 'He asked was his name Ahmed (G)=open (D) bliss
(B) He asked if his name is Ahmed :
(C) He inquired if his name was not | Select the meaning of the underlined idiom :
D Ahm_ed . L " 89. When plague broke out in Mumbai,
(D) :e Inquired if his name is not Dr. X did yeoman service.
: hmed (A) Excellent work
84. He said, ‘I shall go as soon as it is (B) Charity
possible’_ (C) Donated food
(A) He said that he should go as soon (D) None of the above
as it is possible
: . | 90. [ suspect that fellow has sent us on a
(B) He said he must go as soon as it wild-qoose chase.
was possible (A) defeated
(C) He said that he would go as soon .
: . (B) afoolish search
as it was possible C d the erisi
(D) He said that he could go as soon it o) fpasss : SEFIS
; (D) under his control
was possible
A -16-
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o1.

Change the voice of the given sentence :

92.

98.

Change the following sentence to positive
degree :

94.

There are black sheep in every
community.

(A) foolish people
(B) unsound men
(C) bad characters
(D) physically challenged

'l was being taken to prison by my
captors’

(A)
(B)

My captors took me to prison

My captors are taking me to

prison
(C) My captors have taken me to
prison
(D) My captors were taking me to

prison

‘| know her’

(A) She was known to me
(B) She is known to me
(C) She is known by me
(D) None of the above

‘Iron is the most useful of all metals’

(A) Iron is more useful than any other

metal
(B) Iron is as useful as other metals 98.
(C) lron is not useless compared to
t
other metals 100.
(D) No other metal is as useful as iron
17-

95.

96.

97.

98.

MKG-VIII/TECHTGTEM/1T/02

‘Joshl writes more interestingly than
most historians’

(A) Few historians write as interestingly
as Joshi

No historians writes as interestingly
as Joshi

Joshi writes as interesting as other
historians

None of the above

(B)
(©)

(D)

Choose the correct alternative :

| don't think | be able to go.

(A) Shall
(B) Should

~(C) Can

(D) None of the above

He _
compelled.

(A) shall
(B)
(C)
(D)

not pay unless'he is

will
dare
ought not

| carry the box into the house
for you ?
(A) Would
(C) Will

(B) Shall
(D) Could

Select the wrongly spelt word :

(A) Momantous
(C) Facilitate

(B) Fragrant
(D) Industrious

(A) Aggrevate
(C) Leisurely

(B) Alleviate
(D) Spurious
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Use the correct option to fill in the blanks

101.

102.

108.

Fill in the blanks with suitable verb -

104.

105.

106.

MKG-VINTECHTGTEM/1T/02

| promise | go out.
(A) Won't (B) Wouldn't
(C) May not (D) Can't

SECTION-B

-4
Post Specific Subject-Related Questions
Uree Tuftiithes faaa - gaeft wga

you prosper in all that you do !

Neither of the combatants
able to win a decisive victory.

(A) are (B) were
(C) have (D) was
He and | at Oxford together.
(A) was (B) were 110.
(C) is (D) am
The ship was wrecked and every man,
woman and child drowned.
(A) was (B) is
(C) were (D) are
-18-
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Select correct option for the underlined words :

107. Such questions should not be asked.

(A) Can (B) May

(C) will (D) Must 108.
He apologise for his
mistake.

(A) Wil (B) Might

(C) Must (D) Need 1009.

(A) Demonstrative adjective -
(B) Adjective of number

(C) Adijective of quantity

(D) Interrogative adjective

He hurt himself.

~(A) Reciprocal pronoun

(B) Distributive pronoun

(C) Reflexive pronoun
(D) Emphatic pronoun

Tom as well as Brown qualified for the
finals. L

(A) adverb

(B) adjective
(C) pronoun
(D) conjunctions

Observe the punctuation marks and select the
‘correct sentence.

(A) “perhaps” cried he, “there may be
such monsters as you describe”

(B) “Perhaps”, cried he, “there may be
such monsters as you describe !"

(C) Perhaps, cried he “there may be
such monsters as you describe™,

(D) Perhaps cried he, “there may be
such monsters as you describe”.
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111,

112.

Complete the following sentences by supplyings

(A) All that | am, all that | hope to be,
| owe to my angel mother.

(B) All that | am; all that | hope to be,
| owe to my angel mother | .

(C) Alithat | am, all that | hope to be;

| owe to my angel mother.

(D) Allthat | am — all that | hope to be;
| owe to my angel. mother.

(A) The Humanmindis never stationary;,
it advances or retrogrades.

(B) TheHuman mindis never stationary,
it advances or retrogrades .

(C) The Humanmind is never stationary
it advances, or retrogrades.

(D) TheHuman mind is never stationary
it advances or retrogrades !

appropriate connecting words.

113.

114.

Small service is true service

it lasts.

(A) and (B) if

(C) than - (D) for -
Forgive us oﬁr debts __ we

forgive our debtors.

(A) for - _(B) which _

(C) than (D) as

115.

116.

117.

MKG-VIWTECHTGTEM/1T/02
The poetical sketches, is a collection of
earliest poetry.

(A) William Wordsworth
(B) William Blake

(C) Robert Burns

(D) Robert Frost

Which of the following is a famous work
by Daniel Defoe ? '

(A) - Robinson Crusoe

(B) The New Atlants

(C) The Pilgrim’s Progress
(D) The Unfortunate Traveller

“ Just for a handful of silver he left us,

Just for a riband to stick in his coal”.

| These'lings are from The lost Leader by

W (AY Walter Scott

118.

(B) Robert Southey
(C) Robert Browning

- (D) P.B. Shelley

Which of the following is a famous work
by Samuel Taylor Coleridge ?

(A) The Prelude

(B) Lyrical Ballads

(C) The Rime of the Ancient Mariner
(D) Thalaba
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119.

~120.

O ~

i 122,

121.

123.

Which of the following works has the
metaphor of an albatross ?

(A) Kubla Khan

(B) Christabel

(C) Day Dream .-

(D) The Rime of the Ancient Mariner ‘

‘A thing of beauty is a-joy forever'. This
is a stiking line from the famous book
(A) Endymian .

(B) Ode on a Grecian Urn -

(C) OnAutumn "

(D) Ode to a Nightingale

‘Tales from Shakespeare', is written by
(A) Shakespeare

(B) Wordsworth

(C) Charles Lamb

(D) P.B. Shelley

“Man is a gaming animal. He _must,
always be trying to get the better lin

something or other”. This is a famotss| "

quote from
(A) To kill a mocking bird
(B) Essays of Elia. -

(C) The old Benchers of the inner
temple
(D) Blank Verse (

Elinor Dashwood is the main character in
(A) Pride and Prejudice *

(B) Sense and Sensibility

(C) Emma

(D) Mansfield

0 0000 00 T

124. Which of the following is not the work
of Charles Lamb ?

‘A) Dream Children
- (B) OldChina

(C) Dissertation on Roast Pig -
AD) Marmion

@Which of the following poems opens
i with-a_description of ‘a village named
(A) Memory

(B) The village schoolmaster

(C) The deserted village

(D) <A sonnet

|126. Dr. Primrose, a simple English

:Clergyman is the character of which of
the following ?

(A). The Vicar of Wakefield «

(B) Atale of atub

(CymSophia

(B),. The romance of the forest .

127. How many sonnets has Shakespeare
written in tote ?

(A) 150 (B) 154

(C) 120 (D) 130

—1%} In the novel ‘Emma’ by Jane Austine,

the protagonist Emma woodhouse
realises at the end that she loves

(A) Mr. Frank Churchill
(B) Mr. Martin -
(C) Philip Elton

(D) Mr. Knightley
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129. Dorothea Brooke is a 19 year old orphan

in the novel by George
Eliot.

(A) Romola |

(B) Adam Bede
(C) Middle March
(D) Daniel Derenda

130. Forwhatis the phrase 'The mousetrap’

used by Shakespeare ?

(A) Hamlet's tragic flaw |

(B) The Ghost of Hamlet's father

(C) The play within the play in Hamlet
(D) Hamlet's conscience

131, “Frailty thy name is woman” who says

this ?
(A) Hamlet -
(C) King Lear~

(B) Othello
(D) Macbeth

132. In Shakespeare’'s Tempest, who is

Sebastian’s brother ?
(A) Antonio (B) Alonso
(C) Ferdinand (D) Gonzalo

133. Which of the following is a Pastoral

comedy by William Shakespeare ?
(A) Hamlet- (B) Tempest
(C) AsYoulikelt (D) King Lear

134. YWho is King Lear's second daughter's

husband ?

Duke of Cornwalle

(B) Earl of Kentx
(C) Duke of Burgundy

(D) Duke of Albany.

MKG-VII/'TECHTGTEM/1T/02

Direction (Q. No. 135 to 139) : Read the
passage below and answer the questions :

Hari had stayed into Nehru household as a
dishevelled urchjn of five or six years old. His
father, who was a cook at the house of an
English official, was an irresponsible, hard
drinking rascal who beat his wife mercilessly.
The poor woman finally sought refuge in the
premises of Swaraj Bhavan and so Hari came
to be noticed by my grandfather. Nanuiji; always
ready to help those in distress, found him a
bright youngster and decided to employ the
little untouchable boy. So Hari grew up in the
family's service and was sent to School by
Nanuiji. Un accustomed to a life of rules and
regulations, he cheerfully ignored its demands.
He lied outrageously, stole whenever he had
the chance and coolly be trayed the trust that
had been placed in him. (C.N. Sahgal)

135 The poor woman finally sought refuge
in the premlses of Swaraj Bhavan.
The poor woman here refers to

(A) Hari's grandmother

(B) Narrator's grandmother
(C). Hari's mother

(D) Hari's sister

Who is the untouchable boy mentioned
in the passage ?

(A) Hari

(B) A cook

(C) Narrator’s neighbour

136.

(D) Narrator
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137. Why did Hari ignored the rules of the
n* house ?
(A) He was careless
(B) He was a criminal
(C) He was not used to a life of
discipline

(D) He was happy to break them

138. Find the synonym of ‘untidy’ from the

passage.
(A) urchi

(B) distress
(C) betrayed
(D) dishevelled

139.
passage.

(A) distress
(B) ignored
(C) outrageously
(D) betrayed

Direction (Q. No. 140 to 144) : Read.the

passage below and answer the questionss:

What makes the Palk Straits a formidable
challenge to swimmers is the presence of
deadly marine hazards, warm tropical seas
team with all kinds of marine life. The natural
dwellers of these seas include sharks a terror
to all swimmers. These could be either tiger
sharks or the fierce hammer headed ones.
Both are man-eaters. Then there are those
panthers_of the deep, the barracuda. They
are powerful and mean and attack anything
that moves. With a shark repellent one can
hope to keep single shark at bay; with a rifle
or with divers around:; barracuda can be
discouraged. But there is nothing one can do
about the l[eptiles of the Indian ocean. Owing

Find the antonym of ‘Stand by’ from the

perhaps to the presence of the chain of roclfs
and sand dunes in this area known as Adam'’s_

| Bridge, the snakes infest the seas. They are

not only poisonous but deadly poisonous. Sea
snakes will not bite a man unless he touches
or hurts them. Then there were the practical
problems which often seemed to me almost
insurmountable. Travel between lndi::m and
Ceylon is rigidly controlled. (Mihir Sen)

140. Select an expression from the passage
which means ‘some thing that can’t be

overcome’.

(A) Comprehensive
(B) Repellent

(C) . Insurmountable

(D) Hazards
141. Who is the real terror for a swimmer ?
(A) Shark (B) Barracuda
(C) Snakes (D) Rocks
142 Theauthor mentioned about
types of sharks.
(A) three
(B) .two
(C) one
(D) none of the above
143. According to the author, panthers of the
sea are :
(A) Snakes (B) Sharks -
(C) Sea-horse (D), Barracuda
144. Select the antonym of ‘undemanding’
from the passage.
(A) .formidable  (B) fierce
(C) powerful (D) discourage

A -22.
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Change the following sentence into simple
present:
145. “She has done the work”

(A) She is doing the work

(B) She has been doing the work
(C) She does the work

(D) She was doing the work

146. It had been raining. (Select the tense

used in the sentence)

(A) Pasttense

(B) Present perfect

(C) Present perfect continuous
(D) Past perfect continuous

Change the voice of the following sentence :

147. “Our team has been defeated”

(A) They defeated our team

(B) They had defeated. our team
(C) They have defeated our team

(D) They were defeated our team

148. ‘Listen to me’

(A) You have to listen to me

(B) You must listen to me

(C) You are supposed to listen to me

(D) You are requested to listen to me

149. “Who gave you this pen ?"
(A) By whom were you given this pen
LB) You were given this pen by whom
(C) By whom you were given this pen

(D) By whom you are given this pen

MKG-VIINTECHTGTEM/1T/02
Select the correct option for the underlined part :

150. There was a time when | could lift 250 Ibs.
(A) Noun clause :
(B)
(C)
(D)

Adjective clause
Adverb clause
None of the above

Ramesh asked me where | lived.
(A) Noun clause

(B)
(C)
(D)

151.

Adjective clause
Adverb clause
None of the above

Desai is a wealthy man.
(A) Noun clause

(B) Adjective clause
(C) Adverb clause

(D) None of the above

152.

Use correct options to fill in the blanks :

he.

153. No sooner had he returned
was off again. _
(A) than (B) when D
(C) and (D) but '
154. Helostnot only' his ticket
his luggage. .
(A) but (B) and
(C) but also (D) then "
155." Scarcely had he gone, a,
policeman knocked at the door. ;
(A). than (B) when 21t
~ (C) but (D) still
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Insert the correct tense of verb in the following
sentences :

156. Copernicus proved that the earth
round the sun.

(A) moved

(B) moves

(C) has moved

(D) has been moving

157. He ran as quickly as he

(A) could (B) can
(C) may (D) might

158. | didn't know it until you
(A) Speak

(B)
(C)
(D)

Have spoken
Spoke
None of the above

Direction (Q. No. 159 to 163) : Read\tte
passage below and answer the questions :

One day while at work in the Coal Mine, |
happened to overhear ear two mmersmout
_agreatschool for coloured peopld somewhere
in Vlrglnla | resolved at once to go to that
school although | had no idea where it was
or how many miles away or how | was going
to reach it. In the fall of 1872, | determined to
make an effort to get there. My mother was
troubled with a grave fear that | was starting out
ona w;Id -goose chase’. At any rate, | got only
a half-hearted consent from her that | might
start. My brother helped me all that he could
but, of course that was not a great deal.
(Booker T. Washington)

0 0 0 A0 0 O R A

159. The narrator mentioned a school for

(A) the minors
(B)
(C)
(D)

negro race

o

the workers
none of the above

160. What does the expression “Wild-goose
chase" mean ?
(A) difficult task
(B) strange and adventurous
(C) useless and foolish action
(D) ' dangerous action

161. Select the wrong statement :

(A) His brother helped him in his new
venture
(B) He was working in a coal mine
(C) His mother gave whole-hearted
" consent

“(DY*The school mention in the passage
was situated in Virginia

162. Select the synonym of ‘decided’ from
the passage.
(A) *Consent
(B) Resolved"
(C) Overheard
(D) . None of the above

163. Select the antonym of ‘dissent’ from the

passage.
(A) happened (B) atany rate
(C) deal (D) . consent

-24-
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16‘9 ‘Lady of the Lake’ is written by
‘ (A) Robert Southey

(B) Walter Scott

(C) Lord Byron

(D) P.B. Shelley

165. \Which of the following is a character
from ‘Old Mortality’ ? '

(A) Lady Margaret-Bellenden
(B) Grace Armstrong

(C) lIsabel Vere

(D) Elshie

166. ‘Childe Harold's Pilgrimage is one of the

best known works of

(A) Lord Byron

(B) John Keats-

(C) Char‘lgs Lémb

(D) Thémas De Quincey.

167. "Make me thy lyre, even as the forest is :

What if my leaves are falling like its own !”
The above line are taken from

(A) The Cloud

(B) Toa Skylard

(C) To Night .

MKG-VIINTECHTGTEM/1T/02

168. ‘Prometheus Unbound’; a lyrical drama:
is the best work of |

(A) Walter Scott
(B) Dryden
(C). P. B. Shelley
(D) Lord Byron

1@ Frankenstein is a novel written by -
(A) P.B. Shelley
(B) Mary Shelley
(C) Lord Byron
(D) Robert Browning

is the boss of a criminal
gang of young boys and girls in ‘Oliver
Twist'.
(A)Mr. Bunble: = (B) Fagin
(C) Mr. Gamfield (D) Mr. Fang

1710 The novel, follows

a classical tripartite structure entitled
‘Sowing’, ‘Reaping’ and ‘Garnering’.
(A)e Hard Times

(B) é[eat Expectations

(C) "Bleak House |

(D) YA Christmas Carol

@ is a satire on various
churches by Jonathan Swift. '
(A) The Battle of the books

(B) Taleofa Tub

(C) Journal to Stella

I

(D) None of the above

(D) Ode to the West Wind -

-

-25.
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=t
&'When I consider how my light is spent”,
s one of the best known sonnets of

174,

-/ Little Housewives.

L o177,

(A) Shakespeare
(B) John Milton

(C) Oliver Goldsmith
(D) Thomas Gray

is a series of Lectures to

(A) Crown of Wild Olive
(B) Traffic and War

(C) Sesame and Lilies
(D) Ethics of the Dust

‘Seven Lamps of Architecture’ is one of

the famous works by
(A) Tennyson

(B) Milton

(C) John Ruskin
(D) Mathew Arnold

‘The Doctor's Dilemma’ is a famous
work by N

(A) George Bernard Shaw

(B) A.E.Housman

(C) Alfred Noyes

(D) John Masefield

“Neither a borrower nor a lender be :-
For loan often loses both itself and
friends” who speaks these lines ?

(A) « Polonius (B) Horatio
(C) Laertes (D) Prospero

178.

179.

180.

181.

182.

000 0 0 T A A [IIIIIIIIIIIIIH MMM INAAR,

Who is called “The Bard of Aven’ ?
(A) Ben Jonson

¢B) Shakespeare

(C) Spenser

(D) Sir Philip Sidney

“Viola is shipwrecked on the cc?ast of
llyria and she comes ashore with The
help of a captain”. This is the opening
part of which play by Shakespeare ?
(A) AsYou Like It (B) Tempest

(C) Richard Il (D) Twelfth Night

Who is thé daughter of Shylock in
Merchant of Venice ?

(A) Portia (B) Nerissa
(C) Balthezar (D) Jessica

In Which of Shakespeare’s plays the
following lines appear ?

“Blow, blow, thou winter wind
Theuwart not so unkind
As'man’s in gratitude™. . . ?

(A) All's Well That Ends Well
(B) As You Like It

(C) Antony and Cleopatra
(D) -King Lear

Name the theatre in which Shakespeare

had shares.

(A) .The Black friars
(BY The Theatre
(C) The Universe
(D) The Rose
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183. Which of the following books mark the
beginning of Shakespeare's success ?

(A) Love's Labour Lost

(B) The Merchant of Venice
(C) Venus and Adonis

(D) Sonnets

Direction (Q. No. 184 to 188) : Read the
passage below and answer the questions :

Linguistics is the scientific study of language.
Itendeavours to answer the question —what is
language and how is it represented in the mind.
Linguists focus on describing and explaining
language and are not concerned with the
prescriptive rules of the language. Linguists
are not required to know many languages and
linguists are not interpreters. The underlying
goal of the linguist is to try to discover the
universals 5 concerning language. That is, what
are the common elements of all languages.
The linguist then tries to place these elements
in a theoretical framework that will describesall
languages and also predict what cannot oggur.
in a language. Linguistics is a social science
that common ground with other social sciences
such as psychology, anthropology, sociology
and archaeology. It also may influence other
disciplines such as english, communication
studies and compute? science. Linguistics
for the most part though can be considered a
cognitive science.

184. The goal of the linguist is
(A) tofind out languages
(B) to describe language

(C) to discover universals concerning
L]
language

(D) none of the above

MKG-VIIN'TECHTGTEM/1T/02

185. Linguists are not concern
(A) With the description of language
(B) With explaining language

(C) With the prescriptive rules of the
‘language

(D) None of the above

186. Which of the choices given below is
closest in meaning to the word ‘scientific’
in the passage ?

(A) Objective (B) Distinct
(C) .Systematic (D) Precise

187. Which of the choices given below
is closest in meaning to the word
‘prescriptive’ in the passage ? ’
(A) Relevant
(B) Pertaining to giving directives
(C) Careful
(D) Acquired by

188. (Selectthe syn'onym of the word ‘foretell’
from the passage.

(A) Deduce (B) Suspect
(C), Predict (D) Assess

Use correct preposition to fill in the blanks.

189. He never said or did anything derogatory
his high position.

(A) to (B) for
(C) with (D) by
190. He is quite infatuated .A her.
(A) for (B) to
(C) with (D) through
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191,

192.

193.

194,

195.

\gY T

_ __ v o ferenerf} fien
A gt e o o i R &1

(A) % TR
(B) Them damer

(D) S9Yw A & I3 el

FISO &1 famm &9 2
(A) WieRY o7 $eiE Ug Aew
SIS

(B) qﬁzﬁamsﬁ;ﬂézqgﬁ?—rﬁ
AU T
(C) mwv@ﬂ@zw

(D) %S BN 2feed T dcw we
ITRTFH

ot =61 =nfchem FCARED

ST B

(A) TFHEITT V T Bl 30T fhE T
e T s @

(B) =g YAl g1 27 fohan s
(C) ®i=iehe fawai & w1y &n A1 feregper
FfesaTdt 7 g

wHeha feriedia wee %1 3qu dAfA

Wt fedogea @ :m%ﬁwaaef%

Y ée‘i‘?«ﬁm

(A) forameff (B) T

(C) e (D) wiRTEroT

e A Y102 TsEhew @

% "Ev‘@zg% o8 Thed’ ¥ e
A) Sfsreor

\,ca) e

(C) ST

(D) 3w A A I T

196.

197.

198.

199.

200.
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191,

192.

193,

194,

195.

-~ (A)

- (C)

is the apex body for
curriculum related matters for school
education in India.’

(A) Central Government

(B) Education Ministry

(C) NCERT

(D) None of the above

FISO stands for

(A) Focus on intelligent and self
evaluating priorities

Focus on independent and self
evaluating priorities

Framework for improving student
outcomes

Framework for intelligence and self
study outcomes

(B)
(C)

(D)

Subjects are characterized by

being concepts independent of how
they have been studying

being studied by multiple
disciplines

having little or no overlap with
adjacent subjects

all the above

(B)

(D)

The term academic discipline originate
from the Latin words discipulus which
means and disciplina.
(A) Pupil (B) Teaching

(C) Learning (D) Training

The term “Education” has been derived
from the Latin term ‘Educatum’ which
means '

(A) training
(B) learning
(C) knowing
(D) none of the above

OO O G O

196.

197.

198,

199.

200.

“Education is the manifestation of the
divine perfection, already existing in
man”. The above concept is given by

(A) Gandhiji

(B) Gurudev Tagore
(C)
(D)

Swami Vivekananda
Sri Aurobindo

exists due to language.
(B) Poalitics
(D) Environment

Civilisation

(A)

(C) Democracy

makes Sanskrit and
Computers to blend perfectly.

(A) Scientific precision

(B) Mathematical precision
(C) Social precision

(D) Precision in Arts

The learning environment must be
(A)  Supportive and productive

(B) Safe and comfortable

(C) Safe and supportive

(D) Productive and comfortable

The meaning of discipline refers to
in understanding disciplines
and subjects.

(A) abranch of academic study
(B) a branch of knowledge

(C) abranch of subject

(D) none of the above
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